60 Minutes Interview of Jim Hansen, NASA 

5-10 Yr. Window to Reduce Pollution & Stop Dangerous Climate Change or Else It’s Irreversible.  Aired March 2006 & July 30 2006 http://www.cbsnews.com/stories/2006/03/17/60minutes/main1415985.shtml

"We have to, in the next 10 years, get off this exponential curve and begin to decrease the rate of growth of CO2 emissions," Hansen explains. "And then flatten it out. And before we get to the middle of the century, we’ve got to be on a declining curve.” 

"If that doesn't happen in 10 years, then I don’t think we can keep global warming under one degree Celsius and that means we’re going to, that there’s a great danger of passing some of these tipping points. If the ice sheets begin to disintegrate, what can you do about it? You can’t tie a rope around the ice sheet. You can’t build a wall around the ice sheets. It will be a situation that is out of our control."

Hansen's Dec. 6 2005 Keeling Talk States:

"If we wanted to stabilize atmospheric CO2 for the next few years, we 
would need to cut fossil fuel emissions by about 60%.  But, because 
of backpressure from CO2 added to the ocean, in the long run the cut 
in emissions must be larger than 60% to stabilize atmospheric amount (p.3)."

"So, in summary, is there still time to avoid dangerous human-made 
interference with climate?  I believe the evidence shows with reasonable 
clarity that the level of additional global warming that would put us into 
dangerous territory is about 1°C, not 2 or 3°C (p.13)."

"Action must be prompt, otherwise CO2-producing infrastructure that may 
be built within a decade will make it impractical to keep further global 
warming under 1°C.  I refer especially to the large number of coal-fired 
power plants that China, the United States, and India are planning to 
build without co2 sequestration (p. 13)."

”In summary, the good news about CO2 is that about 40% of annual fossil fuel emissions continues to be soaked up.  And if we decreased CO2 emissions and improved reforestation and agricultural practices we could probably increase the percentage uptake.  The bad news is that stabilization of atmospheric CO2 amount may require reducing emissions by as much as 60-80%.  But, on the contrary, emissions are still increasing (p3).”

"Stabilization of atmospheric CO2 may require eventual reduction of 
emissions by 60-80% (p.21)."

“[T]here is 0.6°C global warming still in the pipeline.  The imbalance also confirms the long lag time of the climate system, which is a practical problem, because it means that, once we decide on the level of global warming that is dangerous, we must take anticipatory actions well before we get there (p.7)”

“So, in summary, is there still time to avoid dangerous human-made interference with climate?  I believe the evidence shows with reasonable clarity that the level of additional global warming that would put us into dangerous territory is about 1°C, not 2 or 3°C (p13).”

Hansen Web Site:  http://www.columbia.edu/~jeh1/  
In October 2006 the Tyndall Climate Centre published research showing how only 'drastic' emission cuts of 9% per annum in CO2e (equivalent emissions) will offer the chance of stabilising climate. Also In October 2006 George Monbiot in his book, Heat, using separate research arrives at the same figure. 9% per annum equates to a 60% reduction by 2016 and 90% by 2030. James Hansen also points out that we are unlikely to stay within the additional 1 degree C warming beyond the year 2000 without immediate large-scale cuts in ozone/NOx, methane and black soot emissions. 

George Monbiot, HEAT 2006.  Cites scientists saying we need 90% C reduction by 2030 to prevent irreversible climate change:  http://www.commondreams.org/views06/1031-21.htm
Hansen Threat Talk Sept. 2006

“It is possible, with practical steps, to level out the rate of GHG emission over the next decade.  Further, steps could reduce emissions 25-30% by mid-century and by 60-80% by the end of the century, keeping global temperature within the range of the warmest interglacial periods of the last million years.  Global warming, over and above that in 2000 could be kept <1°C, and, although that level of warming may have significant impacts, it would not yield global chaos (p.1).”
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